Tree Implementation (4 Points)
The following Java code shows the BST class that has the insert operation.
· In the test class, that has main method, ask the user to enter 10 elements then insert these elements into BST using insert operation.  

[bookmark: _GoBack]The answer: 
import java.util.Scanner;

public class BSTTest {
	
	public static void main(String[] args) {
		Scanner n = new Scanner(System.in);
		BSTTraversal bst = new BSTTraversal();
        int x=0;
		System.out.println("Enter 10 values: ");
		for (int i=0;i<=9;i++) {
			x=n.nextInt();
			bst.insert(x);
		}
}
}
